¥C<7F3§’DQ ///3/2[(

loolt b Sone mox e Segrels

‘:O)J:O/ ’ \)‘))
while Ci’i ) % ;94; n—I
FONTARTIUE S S B
\\T’f‘/ u—-j:_
Lt On)
% n-1\
(=9
while (“ﬁ. n) ?
| —
J - B >
(J L QL Q/@yL\ZQJ] =) —
5
\)w—/ -/>
o O
mt# ISP/ 1ne = C%[(&C(V"f‘ Sixof (MH)
e Lt ©7 AL o1t ) \S/ﬂwf 1=
f@r (m’r =27 (£°=n l-\-*l’)
e (m+j72*5 dL?ﬂ/J+»b g@ Y
(S Pftmc Qj—_( :O; : \-;i%i
'\ 1% |
e e X0 Té]
< 23 ‘}(/




v Pt o o .
b / ,

= lV\ x{

|
-— .
[e]e[ele [e]e] & .,.;(6(\%&(&(&[\4&&

(

N boveg -
QSIL 0?3@ I?QX bz i/)é»u( G 5c9fhc) oA ?
afer s L MO responkd m st concef cns
;“’ kI & of 99(c) )i 3.

kw\"h’t":# Qore horg G a sk
S‘WWVQ éé“ @\/1‘%9 boe 1 ocder O(ﬁ)

Gteger | = Go eocsg sher = © (1) L

Qhaper L4 Alco  O(n) (IS'L ?‘MQS N, 2, @,,_')

Sheges 52 1,3,6,(0 ((=boed) “Tiddder #<
most yes =




k [ [©2]

\

Sé? f+ Dec&/r}mﬁ/{)oﬂ




n Lt (int n) g /n’): <N’)Moll/ F

| £ (VT';:O) retvirn /;
mh’ﬁ’) N —Gé'{’(ﬂr,)//

% iggl 2 Y
A
= et (1) W .

‘.é'}’ T(ﬁ] = o e of 4@(.7"(’/7) /%

.. oQ)
-5 & < (n-1)

—ln) = 0L + Tla)

( SF —
(@/ er T(n=1) =TUna2) +]

Tiln] =
) —<(»-2) ="T(n-3)+/

- fem 2k

<(n-3) +| +2

f) 30k e B

g }’Lw‘"’“m o
/4'@0/ i erehong (e hece
) = Tln-k) +K T(0)=( ‘
L@Jr k=n and f’(vg . (le% n-k = bea%
T know T(o)
(n)= Tlna-n) +1 =S wn )
= TGOty

= [lFn)  O(n)



(| 2023 C |

R
N, k ~tnp/
z,m sl sfrings AsBse of lesth
Cz(/»ci SN ) g
, oont 18 if e heg at leef  J Bs 1A

aq Da/.
;(/V‘;hﬂ—fl ﬁ 99f§ T)W]uﬂlr | g{‘/“,y Q O(/)),
23 & Sf/i,/,gg- — ()W
ALK DU\*ZH)
A ~
#o4 Symmey W23 1
/oA of
\%ﬂrﬂ [ ?) [nes = OC"?) Yo7
bhDH LN B 0 |
@% L( { - T( 7/) Poen077 T(y\) T(ﬁ)*ﬂ
® — = /A \ 307l
s (la) = T(3) + 00, )T
= T(ﬁ) 4{&*9 v |
2"

= Tg) fl s +2) 5!

At o herat
. 01< /K
2 }le (%
{ () = T(Q“) P> qb
o
;’}z’\ = I’)77/)‘Z = = /99};0
iy (D E
< () + DO«%—’f[«km(’L)?OL”)




Spiry 223

[&9/’ rong M ooc U e, chiclever (F
lorses Jee  Ho e  OR.

it
L—-Q/{' T('/)) - ”:7/( OF rC LS|t \'6/44%0/) o
0(/]@7 Size 1.

(n) = [+<la ) -1 F(+Tlan1)

) = |rTla-t) £
<) = = [3T(a-1) + | )—T(t)>l

Tln-1) = |
=3 %cn»ﬂﬂ) I e |

l//\‘
_ hTT3) « (a3t \

/H\/"FW ls ["G/&f‘)()nf e hewe

el L
— 3’{"/(,4"/0 < 22
(7o
| o+ n-k =l = g =n—l nt %&
) mP'T(n-(H‘I)) i ;?g
h((/’ = n—| SP\«-Ll
- 3 O) N ———5"’




g/mn/c/ 7/9%)
QQD N . /“'5/@ /S ('7/'0( & 0D, 77 ;2 SfD/g ’ﬁ)/@c/‘zﬁ).?
Win it worst  (sse B Fo<Shons

Ash 2572 AP T IN- ne)
7Q/M%,;f,m42m/é
A—g’ﬁ 2)"\~ )”’72 ) ’5 »

D@@Qﬁ@‘j@ﬂ

] 614‘/)
277N 7 2" ok
Anbre = O('m) 37
,2”\“ £ 1) ZZ
~ )n
pa-1 = 10(77/'4
mé |+ o4



